Roll No. 319-5‘(@7/ Total P;}ges : B

BCA-105
B.C.A. (First Year) E_xamination, 2019
| BASIC MATHEMATICS |
Paper-V :
Time Allowed : Thr‘ee Hours

Maximum Marks : 100

PART-A [Marks : 20
Answer all questions (50 words each).

All questions carry equal marks.

PART-B [Marks - 50

Answer five questions (250 words eagh), selecting‘ one"

question from each Unit. All questions carry equal nrarks.

=i
=

PART-C [Mqus : 30

Answer any two questions (300 words each).

.

All questions carry equal marks.
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PART-A

1.  Answer the following questions :

(1)/Define the Proper subset.
A

(ii) Define the Domain and Range of a relation.

' X+3
(11 Find the value of le?}:gm'

\(i}/What is discontinuity ? Define it.
(v) KFind the distance between (0, 0) and (3, 4).
\/

(viy Find the equation of a straight line passes

w4
through (0, 1) and (2, 3).

y s 1 . dy
\(V}/YH‘ y=X ——X—B then ﬁnd dx

(viii) Write statement of Liebnitz theorem.

. 3 :
anluate I (\/;C +7—-) dx.
X

._1
1 -sinx

(x) Evaluate J
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PART-B

UNIT-I

\Q/If A =1{1, 2, 3}, B =1{2, 38, 4}, C = (1, 3, 4},
D = {2, 4, 5}, then show that

(AxB)n(CxD)=(ANC)x(BnD).

3. A relation R is defined from a set A = {2, 3, 4, 5} to

a set B = {3, 6, 7, 10} as follows : (a,b)eR<a is

relatively prime to b.
UNIT-II

4. Show that the function f:R-—>R given by

| f(x) =ax+b, where a,beR, a#0 is a bijection.

\% function f(x) is defined as

x+1 if -1<x<0
f(x)=¢ x if 0<x<1
2-x if 1<x<2

Show that it is discontinuous at x = 0 but is continuoué

at x = 1.
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UNIT-111

6. Show that the points A(1, 2), B(2, ) and C(5, 6) form

an isosceles triangle.

‘\"-1 3 5]
\7/ f A=| 1 -3 -5\
{ 2 &l

then show that A = A.
UNIT-1V

X X
e +e

\8/ Differentiate ¥ = —F ¢ with respect to x.
e" —e’

9. Differentiate tan{log\/lﬂczlj with respect to x.

UNIT-V

etan' X
11. Solve dx.
‘[ 1+x2
"BCA-105/424/1,280 4

Scanned with CamScanner



' o PART-C

\1/‘7./ In a class, 21 students play cricket, 26 play hockey,
29 play vollyball. If 14 students play cricket and

hockey, 12 play cricket and .vollyball, 15 play hockey '

and vollyball and 8 students play all three games = |

then how many students playing only cricket ?

13. Find the values of a, b and c if

. ae® —bcosx+ce ™
lim —
x—0 xsinx

{4/0btain the inverse of the matrix .

=47

2 4
31 2/
1 3

-3

=2. -

Hence solve the following system of equations

2Xx + 4y —z2=9,3x +y+2z2=T7,x+ 3y — 3z = 4,

) : \X .
' 15. Prove that the maximum value of (;) is glle

n/4

16. Evaluate - J' log (1 + tanx) dx.
5 .
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